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Question 1 [15 marks: 27 minutes] 

Given the stitT competition JVC Inc. has faced from its competitors such as Samsung and Sony, 
the company wishes to expand its product to include nev,; advanced television sets with 
4K video capability. The production ofthese new television sets requires the building of a new 
factor.y which will cost F9 000 000. JVC's board has decided to raise the required funds through 
a rights offer where each shareholder will be entitled.to buy 2 new shares for eyery 5 shares 
currently held. 

Required: 
If the current market price ofJVC's shares is F 150. and .lVC wants to issue 75000 new shares: 

(a) Calculate the subscription price per share, 
(3 marks: 3 minutes) 

(b) Detem1ine the number of existing shares, 

(5 marks: 4.5 minutes) 
(c) Calculate the ex-rights price and the value of each right, 

(7 minutes: 6 marks) 

Question 2 

Wilh the aid of a fully-labelled diagram, explain the nature of financial distress costs and how 
they affect the yalue of the firm assuming there are corporate taxes. 

[20 marks: 36 minutes] 
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Question 3 [30 marks: 54 minutes] 

Phakama Manufacturing Limited wish to measure their \veighted average cost of capitaL They 
have gathered the following data: 

Equity: The firm has 5 million shares outstanding, Currently trading at E20.00 
per share on the ]SE. Its historic beta is 1.5. 

Debt: The firm has ten thousand semi-annual 10% coupon bonds trading at 
80~'O of par, \vith 5 years to maturity. The par value is E1000 each. 

Preference shares: The firm has two issues of preference shares 
issue: Two hundred thousand 10% preference shares \\'ith a par value 

of E 1 0 and currently trading at 1. 
)I,d issue: Fifty thousand preference shares \vith a dividend yield of 5% 
after paying a dividend of E2 per share. 

The current retum on the market is 15~'o and the market risk premium is 9'%. Corporate tax is 
40%. 

Required: 
(a) Calculate the firm's cost of equity. 

(4 marks: 7 minutes) 
(b) Calculate the cost of the firm's preference shares. 

(13 marks: 23 minutes) 
(e) Calculate the cost of the firm's after-tax cost of debt. 

(5 marks: 9 minutes 
Cd) Calculate the firm's Weighted Average Cost of Capital (WACC). 

(9 marks: 14 minutes) 

Question 4 [20 marks: 36 minutes] 
Paramount Investments has one million shares outstanding. The Board of Directors want to 
change the company's policy of a paying ofE 4 000 000 per year for the each of the next two 
years. Under the proposed policy company wants to pay E5 000000 next year and 850000 
the year after. 

Mr Ncube, a 25% shareholder in Paramount Investments is not happy with the proposed policy 
change because he prefers the old policy. His close friend Mr Smit advised him to use 
homemade dividends to solve his problem. Mr Ncubehas approached you seeking advice about 
homemade dividends. His required retum on investments is 15%. 

Required 
(a) Define the term "homemade dividend." 

(3 marks: 3 minutes) 
(b) Calculate J\1r ~cube's dividend income under the old policy. 

(8 marks: 7 minutes) 
(c) Show his income under homemade diyidends. 

(9 marks: 7 minutes) 
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Question 5 [15 marks: 27 minutes] 

Part A 
You would like to invest in Company X but have to vlait for your bonus in order to be able to 
do so. You will receive your bonus in two months' time. Call options expiring in 2 months' 
time on Company X shares have a strike price ofESO and are avaiJat)le for a premium ofE5.25, 
while put options \\'ith the san1e strike price are selling. for 

Required: 
(a) Identify the action you could take today, and calculate your resultant profiv'loss 	if the 

underlying share price in t\\'o months' time is El 00. 
(5 marks: 9 minute) 

(a) Calculate the price that you need the underlying asset to sell for at maturity, in order to 
break -even. 

(3 marks: 5 minutes) 

PartB 

Sushi Setting is a restaurant which uses a large amount of rice. The owner of Sushi Setting has 
a good relationship \\'ith a local framer \vhose main crop is rice. If you and this farmer agree to 
set up a contract to purchase/sell rice, name the type of contract you would use. Furthern1ore. 
explain which party would assume the long/short position, and how this contract would help to 
address any price concerns they may haw. 

(7 marks: 13 minutes) 

Round off all calculations to two decimal places (four if in decimalized format), and all 
values to the nearest cent. 
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APPENDIX A 


Do (1 + g)
• RE +g

Po 

• 	 Rp 
Pc 

• RE ~E X(RM -R F ) 

• 	 Bond \'alue =: C x I-II (1+ r)! FI 
r 

E '\ (p (D 
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Cum-	 subscription phce of new shares 
• 	 Value of aright =------~--------~--------~~--~----~----------

]''0' +- 1 

_I_ x f}T x Cum rie,hts share price)' subscription price of nevv shares]• N +1 Ln ~ 

raised 
• 1\umber of nev,' shares 

Subscription price 

Old Shares 
• Number of rights needed to buy a 

New Shares 

PElT (1---T )
• V, = 	 C 

L Ru RD 

• Vu = PElT (1-Tc) 
RL 

• R£ = Ru + (R[ RD)DI E(l Tc) 
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